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Q.No: 1 In which of the following places of Madhya Pradesh is the Kalidasa Sanskrit Akademi situated?
2642767

HIACY G&pd febleH, AL Yy & Fafid # ¥ by =M | fRq 32

Khargone
A
ECRUIE |
Gwalior
B
R
Neemuch
C
BiE
Ujjain
D
IoH

Correct Ans : D

Subject : Gen.knowledge

Q.No: 2 Jata Shankar cave is located in which of the following places of Madhya Pradesh?
2651275

STeT X T[T [e Uew & Fafifed 3 ¥ faw we w fRa 32

Udaigiri
A
IRl
Indore
B
$iR
Pachmarhi
C

TG
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Dhar

4R

Correct Ans : C

Subject : Gen.knowledge

Q.No: 3 Sattriya is a dance form of which state?

2679682
fan fre X9 1 T 82
Assam

A
3TH

Andhra Pradesh

B
Yy
Karnataka
C
FAles
Tamil Nadu
D

aftramTg

Correct Ans : A

Subject : Gen.knowledge

Q.No: 4 Loans provided by banks to small traders come under the category of-
2681259

B IR} B ot gRT few M Bt i goft & omar §2

Commercial Loans

A
qiforeaes o1
Priority Sector Lending
B
wryfear & B
Non- profitable loan
C
R-ATHIIS B
Zero interest loan
D

[ TS BT

Correct Ans : B
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Subject : Gen.knowledge

Q.No: 5  E- Commerce major Flipkart has partnered with which of the following banks to launch Super Elite Credit Card in November
2691563 50227

$-HIY Y fRaueTe 3 TdeR 2022 H YR Tdle Hide H18 di I & oY Fafeiad & ¥ 59 6 & Ty Weiert ot 82

IDFC Bank
A
rESiemeh S
Federal Bank
B
Feva §F
Bank of Maharashtra
C
% 3ITh HERTY
Axis Bank
D
MESEECET

Correct Ans : D

Subject : Gen.knowledge

Q.No: 6  Select the most appropriate meaning of the given idiom.
2648943

Lock, stock and barrel
A immediately
B partly
C rarely
D completely

Correct Ans : D

Subject : Gen. English

Q.No: 7 In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the
2665336 Idiom/Phrase.

It's brass monkeys outside
A Amicable
B Responsive
C Friendly
D Frigid
Correct Ans : D

Subject : Gen. English
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Q.No: 8 In the below question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the
2676215 (ne which best expresses the same sentence in Indirect/Direct speech.

"I'm not going to be ordered about by him," said Betsy.
Betsy said that she had not been ordered about by him.
Betsy said that she was not going to be ordered about by him.

Betsy said that she is not going to be ordered about by him.

o 0O w r

Betsy said that she was not gone to be ordered about by him.
Correct Ans : B

Subject : Gen. English

Q.No: 9  In the sentence, identify the segment which contains the grammatical error.
2677402

A soothe voice must convey both confidence and intimacy, qualities that can be attributed to a few key components.

A soothe voice

A
B convey both confidence
C that can be

D

few key components
Correct Ans : A

Subject : Gen. English

Q.No: 10 Which term is one of the most effective ways to eliminate non-biodegradable garbage ?
2639773

TR-ISITTA R B! TH B & 1T B T Veg Ty UHTE! Rieb! H T Th 82

Burning
A

EGIEI

Dumping
B

Sfir

Burying
C

QT

Recycling
D

PEEEaul

Correct Ans : D

Subject : Gen. Science
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Q.No: 11 Which award is given to felicitate high standards of sanitation, hygiene and cleanliness in Public health?
2641861

Which award is given to felicitate high standards of sanitation, hygiene and cleanliness in Public health?

Kayakalp award

A
Kayakalp award
Safaigiri award
B
Safaigiri award
Nirmal Puraskar award
C
Nirmal Puraskar award
Swachh bharat award.
D

Swachh bharat award.

Correct Ans : A

Subject : Gen. Science

Q.No: 12 The most polluted river in the world is

2669267

fay Y g ugfd et ?

Yamuna
A

g

Cauvery
B

LaCh|

Chenab
C

IEEIC]

Ganga
D

T

Correct Ans : D

Subject : Gen. Science

Q.No: 13 Which of the following is an example of fossil fuel?
2683782

9 7 @ 19 T1 SNared S99 BT TP IaeI0 87
A Wood
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qw!

Coke
B

Eacg

Natural gas
C

wipfas

Producer gas
D

ffifa A

Correct Ans : C

Subject : Gen. Science

Q.No: 14 If the sum of slopes of the lines kx - 2y + 3 = 0 and 3x - ky + 7 = 0 is 2.5, what is the value of k if k < 3?
2639428

X3t kx - 2y + 3 = 0 3R 3x - ky + 7 = 0 B! UIUCISH &1 AT 2.5 8, TE k < 3 8, A K &1 AF fha1 82

1
A
1
2
B
2
1/2
C
1/2
1/3
D
1/3

Correct Ans : B

Subject : General Aptitude

Q.No: 15 A word has been given, followed by four other words, one of which cannot be formed by using the letters from the given word.
2642058 Fing that word.

CONTEMPTUOUS

TS Teg e T 7, fTes 918 IR o Weg faU MU &, R & U U U Weg & 31&RT 1 IUANT b 81 ST S FohelT 8| 98 Weg Wrail|

CONTEMPTUOUS
CON

CON
B TOM
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TOM
PRETTY
C
PRETTY
POST
D
POST

Correct Ans : C

Subject : General Aptitude

Q.No: 16 In the following question, select the odd number pair from the given alternatives.
2665124

ffafed ua o, fow U fawed & 9 faww SRem gW &1 999 HY |

321 -14
A

321 -14

245 - 45
B

245 - 45

136 - 48
C

136 - 48

124 - 21
D

124 - 21

Correct Ans : C

Subject : General Aptitude

GET IT ON

Google Play

Q.No: 17 In how much time (in years) will Rs. 18000 amount to Rs. 22500 at simple interest at the rate of 5% per annum?

2671117

18000 I HI I WHURT N WR 5% U I 3! R ¥ foba I7g (auf #) & 22500 T & SE?

10
A

10

5
B

5
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15

15

Correct Ans : B

Subject : General Aptitude

2-6'1‘; ofs In AABC, AD bisects 2A which meets BC at D. fBC=a, AC=b and AB = ¢, then DC =

AABC#H, AD, A &l g a¥@Y HEN #d diedr &, S BCH DWW #erdr §1 afg BC=a, AC=
bR AB=c& dr DC= |

ab
b+c

ab
b+c

ac
a+c

ac
a+c

be
a+c

be
a+c

ac
a+b

ac

a+b

Correct Ans : A
Subject : Gen. Maths

Q.No: 19 A boat takes 8 hr. to cover 65 km in upstream and 75 km in downstream. While it takes 7 hr. 36 min. to cover 52 km in
2672888 upstream and 90 km in downstream. Then find the speed of boat in still water.

TS A9 4RI & Ufagwd 65 fobet. 3R 4RT & 3rg@d 75 i, 31 g8 au o T 8 §¢ &1 I0Y Tl 3| Saidh T8 URT & Ufdgd 52 fobet. 3R ary
¥ 3% 90 forrt. I gt a8 HA B 7 e 36 e &1 wHg At §1 A Wi S H A1d SI A1t J1d Bifore?

13 km/hr
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13 Pt/ ger
19 km/hr

19 fHft/ger

17 km/hr

17 &l ger
21 km/hr

21 et/ ger
Correct Ans : B

Subject : Gen. Maths

Q.No: 20 If 6 burners burn 6 hours daily, the cost of gas for 8 days comes to Rs 450, then how many burners can be burned up to 5
2673099 hoyrs a day for 10 days in 625 rupees?

Tfe 6 IRI B 6 U UfafeT STam W 8 7 &1 A9 &1 g 450 FUY 31T 7, Y 625 TWA H 10 fo7 9 5 6 ufafe fban sk Sl o ¥ohq 272

12
A

12

16
B

16

4
C

4

8
D

8

Correct Ans : D

Subject : Gen. Maths

Q.No: 21 The marked price of a product is 40% above its cost price. Two successive discounts of 10% and 5% are given on marked
2681531 price. If the difference between two discounts is Rs.154, then find the difference between cost price and marked price (in
Rupees).

ot Sare @t g BHd IS TR Ted T 40% 31 31 Ffgd I W 10% 3R 5% & &1 Hitie ge fou T g1 3 3 gel & o9 &1 3iaR
¥.154 g, A AFd Geu ok fifgd oew (3w ®) & o9 &1 SR 1 B

750

750
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800
B

800

1000
C

1000

720
D

720

Correct Ans : B

Subject : Gen. Maths

QNO: 22 P & Q SH-81 e SrerId THT B TE) IaTRY 22

2660118

A feogmad
B TibeHR
C rarer
D 3agd

Correct Ans : D

Subject : Gen. Hindi

Q.No: 23 ¢ X W - . >
3660742 fFEafafea 5 Q vamg &1 WfeRT Isg T I

A =y
B et

C ATgE
D T

Correct Ans : B

Subject : Gen. Hindi

Q.No: 24 AEfRT & _
2661181 A § 1T 1 AT LT

A Tl 33 T8 THdt|

B # 3@ T8 wepdt|

C T 3T 3R Far T Srar|
D SR 3 o+t TE Faedt|

Correct Ans : C

Subject : Gen. Hindi

Q.No: 25 - N
3666790 TOP SGH! TG HE| AR H YR T,

A qgaad
B IR

BT YD Bl

GET IT ON
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C THau
D ki)

Correct Ans : C

Subject : Gen. Hindi

Q.No: 26 Osteoporosis is more common in which of the following?
2592269

SReAIRIR e & § s aiftre ram S &2

Old Men
A

q& ey

Old Women
B

3 Hfgan

Children
C

T=

New Born Child
D

ECEICRRIE|
Correct Ans : B

Subject : Pharmacist

Q.No: 27 Staphylococcus is caused by which of the following?
2592272

Rihdeed Fafdied # ¥ fhad SR gl 82

Sexual intercourse

A
HHRT
Touch
B
w=t
Oral transmission
C
e HaRor
Droplets
D
@

Correct Ans : B

Subject : Pharmacist
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Q.No: 28 What is “A's” on Prescription?
2592301

OferwE W forar “A's” &1 /1 Adad 872

adult
A

qgTH

under 16
B

16 & iR

under 6 years old
C

6 9 9§ 9 3T S

script for oral contraceptive
D

Hifge TvFRive & fore fGpy

Correct Ans : A

Subject : Pharmacist

Q.No: 29 Which of the following must be present on a prescription in order for it to be valid?
2592302

391 & 99 B9 & fou Faffed 9 @19 91 1 38 W HiSe 81 Aey?

Name of medicine

A

Sdl T A1H

How to take the medicine
B

TP A

Quantity to be dispensed
(e

faafva @t s arelt aEn

Signature of the doctor.
D

SIFeR & THIER
Correct Ans : D

Subject : Pharmacist

Q.No: 30 What is the primary usage of antacids today for peptic ulcers?
2592330
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WP @R & U o1 TeTirs &1 WUty IuanT o1 82

Promote Pain Relief

A
& A ed B TgraT &1
Avoiding relapses of ulcers
B
AR & TR A I
Healing Ulcer
C
A e
Controlling the ulcer's bleeding
D

IR & IFdHTE P AU S0
Correct Ans : A

Subject : Pharmacist

Q.No: 31 The following is a list of ischemic heart disease risk factors, where angiotensin II plays a significant role:
2592331

THIS g T ST PRSI BT T it Fuferiad 7, STet TRmIRA 11 T Heayul YT fHumr 2:

Hypercholesterolemia

A
Ventricular hypertrophy
B
Carbohydrate intolerance
C
EQCIHECHRE G
Cardiac arrhythmia
D

FIfSy® TRim

Correct Ans : B

Subject : Pharmacist

Q.No: 32 Which of the following is the pressurized dosage form of medicament in which the liquid or solid drugs are dissolved or
2751751 suspended in gas?

faffad & § $F o1 aT$ &1 Gaaged ars A Bl diieT § B dRel 1 319 <arsy 19 & gor wird! € a1 Feifed g St 82

A Aerosols
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W (Aerosols)

Capsules

%Gl?r (Capsules)

Cachets

¥Te (Cachets)

Enemas

THHT (Enemas)

Correct Ans : A

Subject : Pharmacist

Q.No: 33 Which of the following is not a correct description of the dosage form given in each option?
2751752

fFrafefed & 9 @H-a1 gds fabed # 3T U qarg o & dli P1 Jel faeru el &2

Eye lotions- sterile aqueous solutions used for irritating eye.

A
&ﬂé?ﬁ'ﬂﬁ (Eye Lotions) - mﬁwa?mm“maﬁmaﬁrwm
Glycerins- viscous preparations in which the drug is dissolved in glycerin with or without heating.
B
R8T (Glycerins) - fRfardt dart S e & gars & 7 w3 a1 famm 7 fpe vie fear simar @
Linctuses-sweet and viscous liquid preparations containing medicinal substances with sedative properties.
C
e (Linctuses) - WY 3k Rufrdt aver A = ot ara sirefi werdf gia €
Liniments - liquid or semiliquid preparations meant for internal applications only.
D

fafded (Liniments) - daa al® gyl & e ava ar sef-ava st
Correct Ans : D

Subject : Pharmacist

Q.No: 34 Which of the following is solid dosage form of medicament which are meant for slow dissolution in the mouth?
2751753

frafafed & § oH-91 il 31 319 qars o B a1 ¢ o 4e | et i | gem & forg g 82

Lozenges

deiel (Lozenges)

B Pessaries
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U (Pessaries)

Suppositories

JUIRIEH (Suppositories)

Tinctures

fé&=R (Tinctures)

Correct Ans : A

Subject : Pharmacist

Q.No: 35
2751754

Which of the following is the disadvantage of Oral Drug Delivery System?

fofafead & @ HA-a1 3iRa g fechadt Ren &1 JoHaH 82

They fail to maintain therapeutic effect for a longer period.

3 @9 Ay do fafeca yHg @) 99¢ @A | fird wa §

They can not be administered in night while patient is sleeping.

q w9 O 7T 8 & I | % e} 39T o gPar &

They are comparatively costlier than the drugs in the conventional drug forms.

3 URUR® ga1s wul ¥ qargsi $1 gan d wEh g

They fail to reduce the chances of missed doses by forgetful patients.

3 YaaPe TN gRT FEl 55 S B AU P A P A ReaEa &

Correct Ans : C

Subject : Pharmacist

Q.No: 36
2751757

Which of the following is not an official pharmacopeia?

fFafifEa & ¥ SH-31 e BHiGIT (pharmacopeia) &l 8?2

Merck Index

% g%w (Merck Index)

Remington's Pharmaceutical Sciences

Ifthreq wmiwge®a YIS (Remington's Pharmaceutical Sciences)

The United States Dispensary

GET IT ON

Google Play
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T-I'IS%G’ %%ar fea (The United States Dispensary)

British Pharmaceutical Codex

fafesr wrafgfewa #ISwT (British Pharmaceutical Codex)

Correct Ans : D

Subject : Pharmacist

Q.No: 37 Which of the following Posology is related to?
2751758

fafifaa & ¥ fou urarsh (Posology) @1 Tse g2

Quantity of drugs

A
garsait ot A
Quality of drugs
B
garg il @ ura
Source of drugs
C
arseft &1 Fia
Composition of drugs
D

Gars3i ® T

Correct Ans : A

Subject : Pharmacist

Q.No: 38 Which of the following gives the Dilling’s formula used for calculating dose of child from 12-20 years of age?
2751759

fufafad # Q 19 12-20 a¥ @t g & o= B S BT AT F 1w IuanT favar smaran f$feiT &1 9 (Dilling's formula) a1 82

Age in months/100 x Adult dose

A

g § U/ 100 x TTPH D

Age in years /20 x Adult dose
B

AT aul § / 20 x TID GID

Age in months /150 x adult dose
C

T # 31 /150 x TP G
D Age in years /age + 12 x Adult dose
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AR I A /3Y + 12 x TIED GID
Correct Ans : B

Subject : Pharmacist

Q.No: 39 Which of the following is the primary unit of weight in the Avoirdupois system of weight measurement?
2751760

faffad § ¥ H19- g5 Ao Bt TRaguRd (Avoirdupois) TUTE H aoi &1 WIUfHS 3618 =72

Kilogram
A

frema

Pounds
B

ss

Grams
C

qH

Ounce
D

e

Correct Ans : B

Subject : Pharmacist

Q.No: 40 Which of the following option is correct about the conversion of decigram into the grams?
2751761

fRafifEaa & ¥ SH-31 f9eer ST & 74 H scoaq & IR § I8 82

1 decigram = 0.1 gram

A

1 SHUW = 0.1 I

1 decigram = 0.01 gram
B

1 ¥R = 0.01 IW

1 decigram = 0.001 gram
C

1 S¥RM = 0.001 I

1 decigram = 100 grams
D

1 ™ = 100 IW

Correct Ans : A

Subject : Pharmacist
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Q.No: 41  Which of the following sentence is not true about ‘powders’ as a form of dosage?
2751766

fFafafed § @ PH-91 910 39 & U § 'Uk¥eR’ $ IUANT & R H Ial e 82

They are stable when compared to other dosage forms.

A
IS FN F gunF I R
They show rapid therapeutic effect.
B
3 3o @ fafraia yve fewmd &
Drugs having bitter taste cannot be dispensed in powdered form.
C
Fed w@Iq arell qargs i gul & ¥u F ¢ faar - "war 8
Chances of incompatibility are high in this dosage form.
D

9 W & U § ETfd( incompatibility ) ®1 FHTET STaT &
Correct Ans : D

Subject : Pharmacist

Q.No: 42 Which of the following liquids is not for an internal use?
2751767

Fafifad § @ S9-91 e Hidke Iua & e =gt 82

Syrup
A
Rru
Elixir
B
Srd
Aromatic water
C
ifera urit
Liniment
D
fafie

Correct Ans : D

Subject : Pharmacist

Q.No: 43 Which of the following is not a heat process used in the pharmaceutics?
2751768

GET IT ON

Google Play
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fFofafed § ¥ SH-T cassi § ST 31 9F arell 3SAT ufshar T8t 82

Exsiccation

A

e

Desiccation
B

L3LCIG I

Distillation
C

STaA

Annealing
D

TR

Correct Ans : D

Subject : Pharmacist

GET IT ON

Google Play

Q.No: 44 Which heat process is used for preparation of calcium oxide, magnesium oxide and zinc oxide from their respective

2751769 carbonates?

fog w1 ufshar &1 ST Sickraw aifagiss, ANREH fiags ok Nie sfiags & I7% Jefid BeHe I TR B & e fear S g2

Sublimation

A
Jedure
Calcination
B
EIGIENE]
Fusion
C
ExCE)
Evaporation
D

grefieor

Correct Ans : B

Subject : Pharmacist

Q.No: 45 Which type of distillation method is shown in the picture given below?
2751770



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2417

Simple distillation

A

RINGRCIRER

Fractional distillation
B

SHifI® S

Steam distillation
C

HIq 3T

Vacuum distillation
D

AR 3T
Correct Ans : B

Subject : Pharmacist

Q.No: 46 Which of the following tablet machine is used for large scale production of tablets?
2751774

e & ¥ $H-3 eaae 7=iF o7 TN Tade & 98 TN W Idred & forg faar Sirr 82

Multi punch machine

el vg w=fig

Hand operated punch machine

GET IT ON

Google Play
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By ¥ Hanfora o w=ie

Rotary tablet machine
C

A o WA

Single punch machine
D

Rivrer v w=f=
Correct Ans : C

Subject : Pharmacist

Q.No: 47 What are elixirs?

2751775
TfIfRR Fm 82
Alcoholic preparations
A
pIgis JIRRH
Hydroalcoholic preparations
B
HESIEGIEREA LRk
Aqueous preparations
(e
STefTg YRR
Non-alcoholic preparations
D

R Srepigiard TWRRF

Correct Ans : B

Subject : Pharmacist

Q.No: 48 Which of the following is not used as solvent in oral formation of liquid?
2751776

fafafad # ¥ oi9-w forpfag & Mifde o & faame & Tu d Iy &1 faan o g2

Ethanol
A
gd9Td (Ethanol)
Ethylene glycol
B
Tfyefiq @ ®Ia (Ethylene glycol)
Propylene glycol
(e

Wueh= T@g®Id (Propylene glycol)
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Glycerin

fRrA (Glycerin)
Correct Ans : B

Subject : Pharmacist

Q.No: 49  Which of the following material is used for manufacturing ‘soft capsules’?
2751781

frofafed # ¥ foa arht &1 Suan wive e & fmfo & g fear s 82

Plasticizers

A
WRCTIgeR (Plasticizers)
Gelatin

B
frafeT (Gelatin)
Ethanol

C
gd9Td (Ethanol)
Graphite

D
"BITFISE' (Graphite)

Correct Ans : B

Subject : Pharmacist

Q.No: 50 What is the name of solutions which resists the change in pH on dilution or addition of small amounts of strong acids or bases?

2751782

I AT &1 1 AW § o Uad TRIS a1 &R Bt IS 7 s a1 99 R pH uRadH &1 ARy wvar 82

Isotonic solutions

A

N EIMIECACRUE]

Buffer solutions
B

CLIBCRUE]

Homogenous solutions
C

Y faee=

Heterogenous solutions
D

favr=y faea=

Correct Ans : B
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Subject : Pharmacist

Q.No: 51 Which of the following is not correct about the bases?

2751783
frafofed & & $9-91 4R & IR 7 ¥8 T3 72
pH is always more than 7
A
pH A 7 | SATST 8T &
They have bitter taste.
B
TIP1 TIG HT §iel ¢
They turn red litmus paper green.
C
3 a1 fRrews TR Y g IR QA §
Bases do not show reaction with metals.
D

&R uTgaeh & a1y ufafear I8 Rem §

Correct Ans : C

Subject : Pharmacist

Q.No: 52 Why sub coating is provided on the tablets?

2751788

T W IU-SIET FT B &I 62

To increase the bulk size of the tablets.
A

Tt & U A5 $I 9gM & g

To avoid deterioration to microbial attack.
B

ATEpIfagd gad ¥ famrsa @ w91 & frg

To prevent the solubility in acidic media
C

Tfife® arew # gamitadr &t de & g

To avoid stickiness
D

Rufarge @ ¥97 & fag
Correct Ans : A

Subject : Pharmacist

Q.No: 53 Which of the following is determined in a buffer solution by the Henderson Hasseltch equation?
2751789
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fFafifaa & ¥ $19-31 35 89aed (Henderson Hasseltch) THieRl gRT Ue TR faeras & fuffea fooar wmar 82

pH value
A

pH A9

Distribution of acid and base
B

TS 3R &R &1 v

Volume of solution
C

faera=r &Y @

Number of free ions
D

o ST B TSI
Correct Ans : A

Subject : Pharmacist

Q.No: 54 Who constitutes the pharmacy council of India?
2751790

BT BRI 3iTh SFEa1 &1 T3 DI BT 87

Central government

A
Fg WHR
State government
B
Y AIDPR
High court
C
I ™
Medical Council of India
D

Afswra prefia o sfear
Correct Ans : A

Subject : Pharmacist

Q.No: 55 Which of the following is not a function of Pharmacy council of India?
2751791

g & ¥ oH-91 Bl SR sife $fsar &1 o1 78t 82

A To prescribe minimum standard of education required for qualifying as a pharmacist.
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BHIRRE F =T & TRGdT U 31 & g s} R & gAaq ae Fuia e

To ensure uniform implementation of the educational standards throughout the country.

B
R A A e aeSl F1 U JUH SrataaT AR s
To approve qualifications granted outside the territories to which the Pharmacy Act extends i.e. the approval of
foreign qualification.
C
I &t & TR &t TS Figarsit 1 sgHifdd B F oy R wR wridt siftfFay @1 fawr § e faRsh avhar &1 s
To encourage the research and development in pharmacy by providing soft loans to institutions and individuals.
D

TRIFY 3R FfRral Y Jiue &9 UeH HIP BHdT § U R e & wienfed &Ar

Correct Ans : D

Subject : Pharmacist

Q.No: 56 Who maintains the Central Register of Pharmacists in India?
2751792

YRA H BHRRE & FHg IR HT IWREE B BT 372

State governments

A
[ WP
Central governments
B
Fg BN
Ministry of Ayush
(e
3Ty HAT™
Pharmacy council of India
D

TR SRR 3T i
Correct Ans : D

Subject : Pharmacist

Q.No: 57 Which of the following is a respiratory stimulant that acts by reflex action?
2751797

fRafifEd & ¥ S9-31 437 Ioid © S Uldad 1$haT §RT B Bl 872

Caffeine

PBIT (Caffeine)

B Etimizole
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Tfefieiiar (Etimizole)
Lobeline

C
daarsd (Lobeline)
Bemegride

D
WSS (Bemegride)

Correct Ans : C

Subject : Pharmacist

Q.No: 58 Which of the following is not an extra-cellular electrolyte?
2751798

fraffed ¥ -9 & d-SIR®T saaciage T8l 82

Na
A
Na
Cl
B
Cl
HCOs
C
HCO:
Mg
D
Mg

Correct Ans : D

Subject : Pharmacist

Q.No: 59 Which of the following organ regulates the Sodium levels in body?
2751799

fFafifaa & @ o9 91 o1 TR # QfSaw & R & HalHd e g2

Heart
A

T

Brain
B

femm

C Kidney
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Liver

forr

Correct Ans : C

Subject : Pharmacist

Q.No: 60 Which of the following is an Iron radioactive isotope used in field of medicine?
2751800

fFofafed & ¥ oF 1 smRa eyl smsgiciy o & a3 § IuA far wrar 87

Iron 100
A

SR 100

Iron 10
B

SRRE 10

Iron 59
C

SR 59

Iron 66
D

SR 66

Correct Ans : C

Subject : Pharmacist

Q.No: 61 Which of the following is not an application of radioisotopes in medicine?
2751801

froffad & @ o a1 gars & eI HT SgyanT -6t 82

Radioisotopes in therapy to destroy infected cells

A
Hepfa SIS ot 78 F31 & g fafeen 7 Weatsmsaie
Radioisotopes in diagnosis as tracers
B
IREF & ¥U § fem § Wedengwen
Used in Biological and medicinal research
C

Sfaw ok shwefi ergiem & IuahT far wirar @

D None of the given option
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fou v faweat & | HIE 78T
Correct Ans : D

Subject : Pharmacist

Q.No: 62 Who coined the term ‘pharmacognosy’?
2751805

"HTHTGIE! (pharmacognosy)' ¥sg faH 1T UT?

Seydler

A
Adlser (Seydler)
Tschrish

B
f&p1 (Tschrish)
Aristotle

C
TR (Aristotle)
Hippocrates

D

%@m (Hippocrates)

Correct Ans : A

Subject : Pharmacist

Q.No: 63 Which of the following statement is not true for ‘pharmacognosy’?
2751806

fafifad & ¥ o9 91 $Y7 'BHieMET (pharmacognosy)' & forg T8t 78 872

It is a study of structural, physical, chemical and biological characters of crude drugs.

A
g Bt qaTssil & WS, WMo, Imafe R Ffaw TN &1 s 7
The synthetic drugs also come under its scope.
B
Ridfes qardy W suF TR F amd 7
Most crude drugs come from plants.
C
i Faft garsy wef F amedt §
A pharmacognosy expert should have knowledge of pharmacology as well.
D

Th BTG TS (pharmacognosy) ﬁ"«ﬁ'ﬂﬁ CaRa CaRI| (pharmacology) &1 oft I Rl il'l'l%'q

Correct Ans : B

Subject : Pharmacist
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Q.No: 64 Which of the following is not a drug sourced from animals?
2751807

frofafed & ¥ oH-91 ugsl | U g9 arelt <ars 7ol 87

Gelatin

A
forafeT (Gelatin)
Cod-liver

B
#ls-ferar (Cod-liver)
Asbestos

C
TWRTY (Asbestos)
Beeswax

D
HyufRaal &1 9 (Beeswax)

Correct Ans : C

Subject : Pharmacist

Q.No: 65 Indian pharmacopoeia of India has adopted type of classification system
2751811
YR WTHie o= UHR B qHffe=or YorTelt HY U §
Chemical
A
IS
Morphological
B
FUTHS
Pharmacological
(e
s
Alphabetical
D
qufATaT

Correct Ans : D

Subject : Pharmacist

Q.No: 66 Which of the following is not a reason of unintentional adulteration?
2751812

GET IT ON

Google Play
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fofafed & @ oH-91 e H fireiae &1 eRU 81 82

Lack of knowledge about the authentic plant

A
IS W8 & IR F TEEN FT YT
Similarity in morphology
B
FUTES fage & qurar
Careless collection
C
AIIaTe TI8
Substitution using inferior commercial varieties
D

TS ATGIIAP fHFT PT IUUNT HIb Yfa=ITI=

Correct Ans : D

Subject : Pharmacist

Q.No: 67 Which of the following is not an intentional adulteration method?
2751813

frafafaa & § $H Tragex famee f[fy 78 32

adulteration using manufactured substances

A
fafifa uerf «1 STkt F3& famae
substitution using inferior commercial varieties
B
TRIE qIvIS (el BT Iuai #d ufawmaT
substitution using exhausted drugs
C
UG arSail BT ITART B UfRITT
Similarity in morphology
D

Ut fagE & A
Correct Ans : D

Subject : Pharmacist

Q.No: 68 Which of the following option gives formula for Stomatal index?
2751817
If I = Stomatal Index

S = Number of stomata per mm?
E = Number of ordinary epidermal cells per mm?

fofafad & @ HF A1 fawe e S0 (Stomatal Index) & T T a1 872

GET IT ON

Google Play
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3R I = THed §889 (Stomatal Index)

S =9Ta mm? TEEeT &7 e
E=9fad mm?® HRINDT UTHsH« e &7 §edr

I=S/E+S x 100

A
I= S/E+S x 100
I=SxE/100
B
I=SxE/100
I=E/S+Ex100
C
I=E/S+EXx100
I=S/E+E x 100
D

I=S/E+ E x 100
Correct Ans : A

Subject : Pharmacist

Q.No: 69 Which of the following organized drug is not sourced from roots of plants?
2751818

fFrafafed & & oH- Wfed qars diel 1 Sef ¥ U T8} &1 S 82

Rauwolfia

A
IEIfRBaT (Rauwolfia)
Liquorice

B
GiCIIEs:| (Liquorice)
Ipecac

C
Eﬁ% (Ipecac)
Vasaka

D

qdThT (Vasaka)
Correct Ans : D

Subject : Pharmacist

Q.No: 70 Which of the following is not a drug with chemical constituent alkaloids?
2751819

Rufiiad 7 Q S19-9@ ¢arE RS gosh sicbdiss & 1Y el 87

A Datura

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

YT (Datura)

Vasaka

drgThT (Vasaka)

Vinca

fd®1 (Vinca)

Senna

[/ (Senna)
Correct Ans : D

Subject : Pharmacist

Q.No: 71 Identify the crude drug given in the picture.
2751822

Aloe

A
HqsX (Aloe)
Rauwolfia

B
IEIfePaT (Rauwolfia)
Cinnamon

C
e (Cinnamon)

D Atropa Belladonna
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@TIT IATSHT (Atropa Belladonna)

Correct Ans : B

Subject : Pharmacist

Q.No: 72 Which of the following option gives incorrect information of different measurements?
2751826

fFRafafad & @ PH-91 fdeer Ted SRt T 272

1 drop = 0.05 mL

A
1 §g = 0.05 THTA (mL)
1 pint = 480 mL

B
1 fie = 480 THTA (mL)
1 teaspoon = 5mL

C
1 &g = 5 THEd (mL)
1 ounce = 25 mL

D

1 3ff9 = 25 THTA (mL)
Correct Ans : D

Subject : Pharmacist

Q.No: 73 Which of the following is not an example of physical incompatibility in prescriptions?
2751827

fafafad § ¥ oiF-a1 D= 8 fhforp s/imfa &7 Iaerur Tt 872

Effervescence
A

gagarec

Immiscibility
B

Sifrsrofiaar

Liquefication
C

LI

Precipitation
D

3rgequr

Correct Ans : A

Subject : Pharmacist
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Q.No: 74 Which of the following oral dosage form has lowest cost?
2751835

fafafed § ¥ oy e 2o & $iAd 999 $H 82

Tablets
A

Tferat

Capsules
B

o

Liniments
C

fafrde

Syrups
D

Rru

Correct Ans : A

Subject : Pharmacist

Q.No: 75 Which of the following statement is incorrect about the use of preservatives during the ophthalmic preparations?
2751836

fafafad # Q H19-91 $Y 99 Gadt TR (preparations) ¥ TR URREBT & IUTNT b IR H Tad 82

Preservatives are included in multiple dose eye solutions.

A
ufRel Y FF S A7 wwYTE § wMive far mar @
Preservative are not included in unit dose package.
B
uRRe® T S T § it e &
Preservatives are not used in ophthalmic products used for eye surgery.
C
¥ 3w Ffee & fig Suai fre o ardt A7 St # uRRere! 1 SuaT 8 far s &
Preservatives are must in the ophthalmic products used for eye surgery.
D

A7 7oy RIfPer F e IuET fPe oM aral A7 Iarel # uRRa®! &1 811 SRl @

Correct Ans : D

Subject : Pharmacist

Q.No: 76 For treatment of which of the following eye condition, ophthalmic insert ‘Lacrisert’ is used?
2751837
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et & @ 5y sifa o1 Rufa & IR & e, 37 3w ABAE (Lacrisert)' &1 UGN BT S 872

Watery eyes

A
a0 S
Dry eyes
B
& s
Conductivities
C
ATl
Reddish eyes
D

GIGREIRG]

Correct Ans : B

Subject : Pharmacist

Q.No: 77 Which of the following drug reduces blood pressure primarily by directly decreasing heart rate alone?
2751844

fufafad # @ $19-0 ga8 Ty U 9 W 5T d B $H B 7S IR Bl HH BT 77

Propranolol

A
I IEIRIGE (Propranolol)
Prazosin
B
IR (Prazosin)
Alpha methyl dopa
C
3hT fYTSa SiuT (Alpha methyl dopa)
Nitroprusside sodium
D

ATgCIuTaTSS WfEAH (Nitroprusside sodium)

Correct Ans : A

Subject : Pharmacist

Q.No: 78 Which of the following drug increases gastrointestinal motility?
2751845

frofafed # § $H-1 qars R Tfafed S gerd 82

Glycopyrrolate

TgHIURIde (Glycopyrrolate)
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Atropine

B
E@ﬁ? (Atropine)
Neostigmine

(o
freif&sT (Neostigmine)
Fentanyl

D
Yred1sd (Fentanyl)

Correct Ans : C

Subject : Pharmacist

Q.No: 79 Which of the following enzyme is inhibited by aspirin?
2751846

fFafafad & @ PH-91 tesy tfalRa gr 91fd 8ar 22

Lipoprotein lipase

A
foraii s @U9 (Lipoprotein lipase)
Lipoxygenase

B
AFNRIST (Lipoxygenase)
Cyclooxygenase

(o
IS RIAS (Cyclooxygenase)
Phospholipase

D

WIWHIfUe (Phospholipase)

Correct Ans : C

Subject : Pharmacist

Q.No: 80 Which drug should not be given in pregnancy?
2751847

TufaRm § HH-IR gars g ot afeu?
Labetalol
A
dAdedid (Labetalol)
ACE inhibitors
B

THig 3@RIUF (ACE inhibitors)

C Hydralazine

GET IT ON

Google Play
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sﬁsmr»ﬁﬂ (Hydralazine)

Methyl dopa

firurse SuT (Methyl dopa)
Correct Ans : B

Subject : Pharmacist

Q.No: 81 Which of the following drugs is an antagonist to diazepam?
2751848

fFaffad # ¥ H19-0 Ta8 STEoUM (diazepam) 31 AR 872

Phenargan

A
IR (Phenargan)
Flumaznil

B
Dﬁmﬁﬁﬁ (Flumazenil)
Domperidone

C
SHUf¥SF (Domperidone)
Bromocrptine

D

NAfHPET (Bromocrptine)

Correct Ans : B

Subject : Pharmacist

Q.No: 82 Which of the following drug should not be given along with levodopa?
2751849

faffad # ¥ o9 f <aE AdSIdT (levodopa) & I1Y =gl &t S =nfaw?

Carbidora
A
PISSRT (Carbidora)
MAO inhibitor
B
THES{ 3[aRIY® (MAO inhibitor)
Benserazide
C

dWRTEIES (Benserazide)

D Aspirin

GET IT ON
Google Play
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Tl (Aspirin)
Correct Ans : C

Subject : Pharmacist

Q.No: 83 Which of the following is not a side effect of amitriptyline?
2751850

faffad § ¥ oi9-a1 uffefPaT (amitriptyline) &1 g9IHTg el 872

Constipation

A

Pool

Fine tremors
B

3P gied

Weight loss
C

I HH §IAT

Dry mouth
D

T 48

Correct Ans : C

Subject : Pharmacist

Q.No: 84 Which of the following local anaesthetic has the longest duration of action?
2751851

fafifad § ¥ fow wrila Ta=rg 37 arell <a1s (anaesthetic) @t 3afy Ta9 ool 22

Cocaine

A
®HIBIF (Cocaine)
Chiroprocaine

B
FARIMST (Chlroprocaine)
Lignocaine

C
ISPIC S| (Lignocaine)
Dibucaine

D
fe=@+ (Dibucaine)

Correct Ans : D

Subject : Pharmacist
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Q.No: 85 Which of the following drug is not used for malaria treatment?
2751858

fFofafead & @ PH- <o 7alkar & a & faw Iua 9t &t St 82

Quinine

A
P (Quinine)
Chloroquine

B
FARIPIH (Chloroquine)
Penicillin

C
AR (Penicillin)
Pyrimethamine

D

TIERAYMET (Pyrimethamine)
Correct Ans : C

Subject : Pharmacist

Q.No: 86 What is the name of the process of bone formation?
2751867

g1 fAmtor &Y ufekan &1 o AW 82
Ossification
A
3PS (Ossification)
Mitosis
B
AR (Mitosis)
Cell division
C
DI fAuTeH
None of the given option
D

o v faweat & | w5 T8
Correct Ans : A

Subject : Pharmacist

Q.No: 87 Which of the following is not a function of blood?
2751868
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Fofifed & § $1-91 3 &1 o1 T 82
Blood transports oxygen from the lungs to the cells of the body.
A
5 Bwel A STRAGH B TR B HiR®13 9% ugarar g
It carries carbon di oxide from the body cells to the lungs for exhalation.
B
g 919 Bl & R IR Ft FIfRF13it | F1d ST33iTRITss ® bWwel a@ Ugardl &
It carries gastrointestinal tract to body cells.
C
g RIS UY B IR B B30 96 & Wrar @
It carries neurological signals to the body muscles.
D

g YRR B AR ' RIaed (neurological) Ry ugamar &

Correct Ans : D

Subject : Pharmacist

Q.No: 88 What type of tissue ‘blood’ is?
2751869

& fhg UPR BT FHdb 8?2

Connective tissue

A
|l Ha®
Epithelial tissue
B
JUDRTT SHdd
Nervous tissue
(e
e Sae
Adipose tissue
D

9T SHdP
Correct Ans : A

Subject : Pharmacist

Q.No: 89 How many chambers the heart of a mammal has?
2751873

T WU & ged | fban IR 8 87
1

GET IT ON

Google Play
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2
B

2

4
C

4

6
D

6

Correct Ans : C

Subject : Pharmacist

Q.No: 90 Which of the following is not included in the dimension of holistic health?
2751874

fFofafad & @ oF O 999 @Ry & s § witd T8 82

Physical
A

TRR®

Mental
B

RS

Spiritual
C

sATfa®

Finance
D

fa

Correct Ans : D

Subject : Pharmacist

Q.No: 91 What kind of infection an athlete’s foot is?

2751875
Tyeiie Pe {5y UPR BT UhH 32
Viral
A
CIRRESE
Bacterial
B
Sty

C Fungal

GET IT ON
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B

Parasitic

TRl

Correct Ans : C

Subject : Pharmacist

Q.No: 92 How many types of essential vitamins are there?

2751879
3ifard eI fba UPR & 81 82
13
A
13
20
B
20
27
c
27
14
D
14

Correct Ans : A

Subject : Pharmacist

Q.No: 93 What is the purpose of a diet survey?
2751880

3TER A& BT I T 82

It tries to understand the need for different foods in society.

A

Ig wuTe | fafire @mer uardf 9 9 B 9uEe ST TN $edl §

It is done to assess the quantities of food items and nutrients consumed by the family.
B

g uRkaR gRT ITHNT fFT 7T @rer uerdf SR Wive awl St A BT hes $IA & g s 3

It is done to understand the availability of the type of food available in a particular region.
C

g Uo AR &7 § Suaey HIvH & UPR Pt IUAUT B! U & fore faar simar &

D It is done to promote certain foods.
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UE $© Wi YTl B Fgrar 4 & g e sar @

Correct Ans : B

Subject : Pharmacist

Q.No: 94 Contamination of which of the following causes Giardia?
2751881

fafafad § ¥ fae Sgu Rfar (Giardia) &1 HRUT ST 32

water
A
ot
air
B
'l
food
C
W
chemical
D
IS

Correct Ans : A

Subject : Pharmacist

Q.No: 95 Which of the following is not a symptom of STD (Sexually Transmitted Disease) in males?
2751888

fraffad & § FH-a1 gout & TudS) (@ Guika ) o1 qeor & '

Pain during intercourse

A
R & R ol
Rashes on around sexual organs
B
T ST & STRIUT TP
Discomfort during urination
C
9=TE & R FH
Discomfort in eating
D

ECIERCEET|
Correct Ans : D

Subject : Pharmacist
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Q.No: 96 Which of the following options gives the necessity of disease control measures?
2751889

fFafafed & @ oF 1 fgeer I g0 Surl Bt Jevd SardT 872

To avoid finance burden on health system later on.

A
g1e # WA gumelt R faxig aigr § 7= & o
To increase the per capita income of citizens.
B
ARl @t ufa safd oma § 3fE $91 & fig
To control the prices of drugs in market.
C
VR ¥ garsef o SiFal I FEka s & g
None of the given option
D

fou T fyeul & @ SIS TE
Correct Ans : A

Subject : Pharmacist

Q.No: 97 Which of the following gives the general formula of simple carbohydrates?
2751890

fufifed &  $F W FEeRge & I I ol 872

Co(H20),
A

Co(H:0)x

Cot2(H> 0),
B

Coit2(H20),

Co (H20)n1
C

Co(H20)

Cos1 (H20) 4
D

Cot1 (H20) 4

Correct Ans : A

Subject : Pharmacist
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Q.No: 98 Which percentage concentration convention is used when a solid chemical is dissolved into a liquid?
2751897

TS 319 WO &) gd § Ui W 59 ufawa Iigur 58 &1 ST fean Siidr g2

% w/w
A

% w/w

%w/v
B

%w/v

% v/v
C

% v/v

None of the given option
D

fou v faweat & | w15 81
Correct Ans : B

Subject : Pharmacist

Q.No: 99 Which of the following gives the meaning of active immunization?
2751898

fufafed & Q S5 a1 iy ufaRer &1 o 31 82

Development of more resistance after a disease

A
Hurdt & a1 Sarer uforty B e
Increase in rate of digestion

B
IeE PR A IS
Rate of heart beat increases

C
TSI P! USHA I & I¢ I §
Increase in volume of blood

D

9 Bt 4§ i

Correct Ans : A

Subject : Pharmacist

Q.No: 100 Which of the following is the other name for Platelets?
2751899
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Fibrocytes

A
Wrgahrs'qw (Fibrocytes)
Erythrocytes

B
Eﬁ%ﬁ'ﬂﬁﬁ (Erythrocytes)
Leucocytes

C
TPHRISCY (Leucocytes)
Thrombocytes

D
%ﬁ'@ﬂm (Thrombocytes)

Correct Ans : D

Subject : Pharmacist
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